
GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M1 T (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

GOAL POST
UPRIGHTS (PAIR) 

GOAL POST
CROSS BAR 

GOAL POST
EXTRUSION

GOAL POST
SHIN GUARD (PAIR) 

GOAL POST
CRADLE (PAIR)

GOAL POST
END CAP (PAIR)

M20 REBAR KIT M16 X 150MM BOLT (PAIR) M16 PLAIN WASHER (PAIR)

Components 

Tools required

Steel
Uprights 

(2)

Steel
Crossbar

HDPE 
Sleeves

Shin
Guards (2)

Nylon
Cups (2)

End Caps
(2)

Washers  
(2)

Crossbar 
Bolts (2)

Concrete
Anchors (8)

24mm
27mm

14mm
16mm

Axelent 
Assembly instructions 
» Goal Posts

Axelent AB · Box 1 · Kävsjövägen 17 · SE-330 33 Hillerstorp · Sweden 
Tel +46 370 37 37 30 · sales@axelent.se · www.axelent.se

*Some components included within “M” bundles. 



2X

2X

2X

2X

2X

2X

2X

2X

2X

100mm
3.94in

250mm
9.84in

220mm
8.66in

CRITICAL UPRIGHT
CENTRE TO CENTRE

DOOR
OPENING

SITE
SPECIFIC

2X

2X

2X

2X

100mm
3.94in

250mm
9.84in

220mm
8.66in

CRITICAL UPRIGHT
CENTRE TO CENTRE

DOOR
OPENING

SITE
SPECIFIC

2X

2X

2X

100mm
3.94in

250mm
9.84in

220mm
8.66in

CRITICAL UPRIGHT
CENTRE TO CENTRE

DOOR
OPENING

SITE
SPECIFIC

2X

2X

2X

2X

100mm
3.94in

250mm
9.84in

220mm
8.66in

CRITICAL UPRIGHT
CENTRE TO CENTRE

DOOR
OPENING

SITE
SPECIFIC

!!
Attention: Never leave 

unsecured uprights
unattended.

 

2X

2X

2X

2X

2X

Critical upright 
centre to centre

220mm

Site specific

Door opening

250mm

100mm

Axelent 
Assembly instructions 
» Goal Posts

Axelent AB · Box 1 · Kävsjövägen 17 · SE-330 33 Hillerstorp · Sweden 
Tel +46 370 37 37 30 · sales@axelent.se · www.axelent.se



8.

9.

Hole Depth
178mm (7in)

8.

9.

Hole Diameter
   16mm (5/8in)

Hole Depth
178mm (7in)

8.

9.

Hole Diameter
   16mm (5/8in)

Hole Depth
178mm (7in)

12.

13.

15.

14.

10. 11.

Fill Epoxy to 
3/4 of Hole

6 7

8 !
Attention: Never leave 

unsecured uprights
unattended.

 

9

Axelent 
Assembly instructions 
» Goal Posts

Axelent AB · Box 1 · Kävsjövägen 17 · SE-330 33 Hillerstorp · Sweden 
Tel +46 370 37 37 30 · sales@axelent.se · www.axelent.se



16.

17. 18.

19. 20.

27mm

16.

17. 18.

19. 20.

27mm

17. 18.

19. 20.

27mm

16.

17. 18.

19. 20.

27mm

10

11 12

13 14

Axelent 
Assembly instructions 
» Goal Posts

Axelent AB · Box 1 · Kävsjövägen 17 · SE-330 33 Hillerstorp · Sweden 
Tel +46 370 37 37 30 · sales@axelent.se · www.axelent.se



21.

22.

15

16

Axelent 
Assembly instructions 
» Goal Posts

G
B

1
9

0
8

_1
.0

_J
O

JE

Axelent AB · Box 1 · Kävsjövägen 17 · SE-330 33 Hillerstorp · Sweden 
Tel +46 370 37 37 30 · sales@axelent.se · www.axelent.se


